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ENTYNO KATAXQPHZHXZ BAOMOAOrIIAZ AOTIZTIKH I (r025) 23/5/2022
Question Marks 1 2 6 10
@)i. Break-even point in units 10
(@) ii Break-even point in € 2
1 (b) Margin of safety 2
(c) Profit or Loss 4
(d) Achieve targeted profit 3
(e) Profit or loss if 15 500 4
TOTAL QUESTION 1 25
(@i. | ARR 8
5 (@ii. | NPV 9
(a) iii. | Payback period 6
(b) Theory 2
TOTAL QUESTION 2 25
(@i. | Markup S
(@) ii. | Net profit margin 3
(@) iii. | ROCE 5
3 (@) iv. | Current ratio 3
(@) v. | Collection period 3
(a) vi. | Payment period 3
(b) Theory 3
TOTAL QUESTION 3 25
@)i. PPE a/c 2
4 (a)ii. | Accumulated depreciation a/c 2
(a) iii. | Disposal a/c 2
(b) Statement of Cash Flows 17
() Multiple choice 2
TOTAL QUESTION 4 25
GRANT TOTAL 100

NMPOZOXH XTA ZYNEIMNAITOMENA AAOH!!!







QUESTION 1- ANSWER

Workings
Per pancake € € Fixed costs (per year) €
Selling price 3,60 | Rent (520x 12) 6.240
Raw materials 0,75 Depn [(1.500: 5) x 2 600
Direct labour 0,30 Electricity 1.980
Packaging cost 0,05 (1’10) Other fixed costs 6.600
Contribution per pancake 0f2,50 15.420
®) Fixed C
i. Breakeven point (in units) = _lxe_ osts -
Contribution per unit
. . €15.420 ,
Break even (in units) = g0 6 168 o/fpancakes or units
10 M
ii. Break Even Point in Revenue € = Break Even Point in units x selling price
= 6.168 pancakesof x €3,60 = €22.204,80
2M
(b) Margin of safety =12 200 — 6 168 = 6 032 pancakes or units
2M
(c) Profit or loss
Sales (12.200x 3,6) 43.920
Less Variable cost (12 200 x €1,1 o/f) (13.420)o/f
Less Fixed cost (15.420)o/f
Profit for the year 0/f15.080if correct
OR Profit or Loss for the year = Total contribution — total fixed costs
Profitfor the year = (12.200x €2,50) — 15.420 = 0/f15.080if correct
OR Profit or Loss for the year = margin of safety x contribution
Profitfor the year = 6.032 x €2,50= 0/f15.080if correct
Full marks should be awarded for any other calculation giving the correct answer
4 M



Fixed costs + Required profit

(d) Sales volume (in units) for target profit : Contribution per unit

. 15.420+ €10.500
Number of pancakes for profit €10.500 = {;; =0

= 10.368pancakesor units

3M
(e) Profit or loss if 5.500 pancakes were sold
Sales (5.500x €3,60) 19.800
Less Variable cost (5.500 x €1,10/f) (6.050)
Less Fixed cost (15.420) o/f
Loss for the year (1.670)o/f
4 M

OR Profit or Loss for the year = Total contribution — total fixed costs
=(5500x 2,50) — 15.420=1.670L0ss
OR Profit or Loss for the year = margin of safety x contribution
= (5500- 6 168) x €2,50= 1.670L0SS

Full marks should be awarded for any other calculation giving the correct answer.

Total Marks 25

ANSWER 2
(@)

i. Accounting rate of return

Méoa etiota peddovtikd kaBapd képdn (Annual Average Profits )

M¢ 68 ARR) =
com amodoan ( ) Apxikd kbéotog emévdvong (Initial cost of investment)

__ 8.0000/f 100/ .
ARR = 30.0000/] X100 =10%n10,10 of if correct



Annual
profits
Year 1 | 24.000 - 14.000 = 10.000

*Profits = Cash flows - Depreciation

Year 2 | 23.000 - 14.000 =9.000

Year 3 | 23.000 - 14.000 =9.000

Year 4 | 20.000 - 14.000 = 6.000

Year 5 | 20.000 - 14.000 = 6.000
Total 40.000
Average | (40.000/5) if correct = 8.0000/f

Workings:
Depreciation per year = (€80.000- € 10.000) =€14.000 o/f
5
8 M
ii.
Year Net Cash flow | 8% Present Value
€ €
0 (80.000) 1,000 (80.000) x 1,000= (80.000)
1 24.000 0,926 24.000 x 0,926 = 22.224
2 23.000 0,857 23.000 x 0,857 =19.711
3 23.000 0,794 23.000x 0,794 = 18.262
4 20.000 0,735 20.000 x 0,735 = 14.700
5 20.000 0,681 20.000 x 0,681 =13.620
5 (scrap) 10.000 0,681 10.000x 0,681 = 6.810
NPV 15.327
OM
iii.
Estimated Cash flows Cumulative Cash flows
€ €
Year 0 (80.000) (80.000)
1 24.000 (80.000) + 24.000 = (56.000)
2 23.000 (56.000) + 23.000 = (33.000)
3 23.000 (10.000)
4 20.000 10.000
5 20.000 30.000
Payback period: 3 years + 10.000/20.000x 12=
3 yearsand 6 months

6M



or
80.000— (24.000+ 23.000+23.000) = 10.000

(10.000/20.000) x 12= 6 months

Payback period: 3 yearsand 6 months

(b) A6 oikovopikng TTAeupds n Acropolis Fast Foods plc 6a pytropouce va €mevOUCEl OTO
véo pnxavnua emeidr divel BetiknKabapnMapouoa Agia(p €meidf 1o ARR eival
WNAOGTEPO ATTO TO KOOTOG KEQAAQIOU 1] TTEIBNA N TTEPIODOG ETTAVEICTIPAENG Eival OXETIKA
ouvToun).

On financial grounds Acropolis Fast Foods plc should invest in the new equipment
since it yields of positive NPV (or because the ARR is higher than the cost of capital or
because the payback period is considered relatively quick).

2M
Total Marks 25

ANSWER 3
i. Markup= %x 100 = -+ %
1.050%*
Mark up = ~so0. % 100 = 42%

*Cost of Sales = 440+ 2.680- 620= 2.500
** Gross profit = 3.550- 2.500= 1.050

5M
ii. Net Profit margin = 22r4mI PTofit o 10 = o
Revenue
. . 1.050-320
Net Profit margin = ——— X 100 = 20,56%
3.550
3M
iii. ROCE = Net profit befo're interest & taxes % 100
Total Capital Employed
1.050—- 320
ROCE = X 100= 13,90%
2.200+600+650+1.000+800
5M
. . Current Assets
Iv. Current Ratio = ——
Current Liabilities
. 620+720+ 180
Current Ratio =——— = 1,29:1
400+620+160

3M



Vi.

. . Trad ivabl
Average collection period = /P47 365 days = ? days

Credit sales

Average collection period = % X 365 days = 74days

3M
. _ Trade payables _
Average payment period = Credit purchases < 365 days =? days
. 620
Average payment period = 7es0 X 365days = 84,44days
3M

(b) O1 xpewarteg/mreAdrec xpeialovral 14 emimmAéov pépec (74-60) yia va e€0@Agouv

TIC UTTOXPEWOEIC TOUC OE 0X€0N E TOUC OPOUC TTANPWUNC.

AuTtd €xel _apvnTIKA _€TTidpaon  TTAvVw OTIC TOUEIOKEC POEC/peUaTOTNTA  TNC
ETTIXEIPNONG.

Etriong, auté¢ Ba ptropouce va gival kal 0 AOyog yia TOV OTIOio N ETIXEIPNON
xpeidletal  emmmAéov 14 uépec  (84-70)  via  va  etopAnoel  TOug
TMOTWTEG/TTPOUNOBEUTEC TNG( BEV PTTOPEI VA TTANPWOEI EYKAIPWG TIG UTTOXPEWOEIG
™Mng).

EmimAéov, otav o1 XpewaoTeC OV TTANPWVOUV EyKalpa aufdvetal o Kivouvoc va
dnuioupynBouv atTwAEIEC ATTO XPEWOTEC.

ETriong, €dv n €Tmixeipnon ouvexioel va TTANPWVEI TOUG TTIOTWTEG/TTPOUNBEUTEG TNG
KaBuoTtepnuéva, UTTAPXEl O  KivOUVOC va  aTmooUpPOuUV  TIC TTIOTWTIKEC TOUC
OIEUKOAUVOEIC.

Trade receivables take 14 days longer (74-60) to pay compared to the agreed
terms.

This could have a negative impact on the cash flows/liquidity of the business.

This could be the reason why the business can’t pay its trade payables on time,
(it takes 14 days longer (84-70) to repay).
If the business continues to delay payments, then the trade payables/suppliers
could have their orders withheld and therefore, the business reputation could be
at stake.

3M

Total Marks 25



ANSWER 4

(@)

i. Property, plant and equipment A/c

€ €
Balance b/d 1.500.000 Disposal 500.000
Bank 1.000.000 Balance c/d 2.000.000
2.500.000 2.500.000
2M
ii. Accumulated depreciation A/c
€ €
Disposal 100.000 Balance b/d 300.000
Balance c/d 400.000 Depreciation - Profit or 200.000
Loss
500.000 500.000
2M
iii. Disposal Alc
€ €
PPE at cost of 500.000 Accumulated Depn of 100.000
Bank-proceeds 350.000
Loss on disposal 50.000
500.000 500.000

2M



(b) Sonia Plc

Statement of Cash Flow for the year ended 31 December 2021

OR

CASH FLOWS FROM OPERATING ACTIVITIES € €
Profit before tax 400.000

Add: Finance cost (W2) of 29.550

Add: Depreciation charge 200.000

Add: Loss on disposal of non-current assets 50.000

Operating cash flow before working capital changes 679.550

Less: Increase in inventories (50.000)

Add: Decrease in trade receivables 20.000

Add: Increase in trade payables 35.000

Cash generated from operations 684.550

Less interest paid (W2) of (29.550)

Less tax paid (W1) or (15 +50-20 ) of (45.000)

Net Cash flow from operating Activities 610.0000f
CASH FLOW FROM INVESTING ACTIVITIES

Payments to acquire non-current assets (2.000.000)

Proceeds from sale of non-current assets of 350.000

Net Cash Used in Investing Activities (650.000)0f
CASH FLOW FROM FINANCING ACTIVITIES

Net Cash used in Financing Activities (200.000)
Net decrease in cash and cash equivalents (240.000)
Cash and cash equivalents at the beginning of the year 230.000
Cash and cash equivalents at the end of the year (10.000)
Net decrease in cash and cash equivalents (240.000)
OR

Net decrease in cash and cash equivalents (240.000)
Cash and cash equivalents at the beginning of the year 230.000
Cash and cash equivalents at the end of the year (10.000)

10




Working 1:

Tax Alc
€ €

Bank 45.000 Balance b/d 15.000

Balance c/d 20.000 Profit or Loss Alc 50.000

65.000 65.000

Working 2:

Bank Interest 300
7%Redeemable preference share (400.000 x 7%) 28.000
5%Debenture Interest (100.000 x 5% x 3/12) 1.250
29.550

(c) The correct answer is iii.

17 M

2M

Total Marks 25

GRAND TOTAL MARKS 100

---END---

11



